Zor2{e] 7|X: Homework 1 for problem solving

C O|MQ Comments /* OF A|RtE|1 */2 BLIH nesting 0| 3{HE|X| U=rC}
2tA C o CommentE recognizest?| M= /2| project 1 MM H lexQ| start
condition featureE O|8% £T QUX|T+ £ CHE HIHS ACHZ regular expression S 2
BSt= ZO|Ct. O] EX|O|A= regular expressiong O|&3}0 comment & QA=
uALO| Y8l CHECH

(@) M=8| C Comment TH2 accept sh= DFAEZ Z1Z|A|2. O] DFAJ} O|& S0f /***/
= acceptdtd /* */*/ = rejectdt= K| SOQISIA|Q. ESH = A 749 CHE 7ICE2E ofof
CHS M= H2td| accept/reject St= X| ZOISIA| 2.

(b) 22| DFAG| sEst= C Commentl| regular expressiong JLSHA| 2.

(c) lexical analyzerOfA lookahead= AKX ZE ©QIAGIZ{ = lexemeQ| OFX|EH character
0|20 =72 2{0{0F St= (O] lexemeE QIA5}7| 2I8l) character o| 7j=E 2|0O|HCt.
CommentE O|2{st HdiHoz OlAlSlE C M9 maximum(worst-case)
lookahead= infinite@2 E0FE= O£ SlLt EA|(/ 2F * & C2| valid operatord =
719 2.

(d) Ctge| C =20 CHAA el & | (start conditiondl} regular expression)=
AFESH C Aot e2{7F 22t O{™ behaviorE HUX| MEHSIA| Q.
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